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et 1- Wrong No. Series

QI. 19, 36, 55,77,107, 138

a) 19 b) 77
c) 36 d) 55
e) 107

Q2.106, 53, 53,717.5, 159, 397.5

a) 159 b) 397.5

c) 53 d) 77.5

e) 106

Q3. 11, 116, 123, 134, 150, |76
a) 123 b) 116

c) I d) 134

e) 150

Q4. 19, 21, 41, 61, 101, 162

a) 4l b) 19
c) 21 d) 6l
e) 10|

Q5.110,132,156, 182, 210, 250

a) 10 b) 132
c) 156 d) 182
e) 250
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et 2- Approximation

Ql. V7224 + 45.11 ¥ 3.99 = 6.12 = x% of 499.8I

a) 19 b) 16

c) 23 d) 26

e) I8

Q2. *vx = V(1295) - ¥(575) - 34730

a) 8| b) 16

c) 256 d) 625

e) 1296

Q3.939.81 =+ 4.87 — 39.87% of 284.93 = x + 311.86 =+ 7.83
a) 22 b) 35

c) 24 d) 23

e) 28

QL. 19.81% of 3774.91 — 25.21% of 1680.08 = x% of 499.83
a) I3 b) I8

c) 67 d) 24

e) 20

Q5. xof 335.84 + 42.12 =359.87 * 24.12 + 17.97

a) 50 b) 40

c) 6l d) 63

e) 60
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et 3- Quadratic equations

QIl. Equation |: X2 — 26X +153=0
Equation 11:Y2 — 27Y +162 =0

a. x>y b. y>x

c. xSy d. x2y

e. x=y, or no relation

Q2. Equation I:X%2 - 34X + 289=0
Equation Il: Y2 — 56Y + 784 =0

a. x>y b. y>x

c. xSy d. x2y

e. x=y, or no relation

Q3.Equation I: X2 — 50X +225=0
Equation 11:Y2 — 28Y + 147 =0

a. x>y b. y>x

c. xSy d. x2y

e. x=y, or no relation

Q4. Equation I: X2 — 62X +961=0
Equation I1: Y2 — 68Y + 1156 = 0
a.x>y b.x2y

C.X<Yy d.x<y

e. x =y or no relation

Q5. Equation |: X2= 444
Equation I1: Y = V36

a.x >y b.x2y
C.X<Yy d.x<y

e. x =y, or no relation
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Set 4- Arithmetic Questions

QI.The distance between point A and point B is 408 km. A train starts from
station A at 9.00 AM and travels at a speed of 68 km/hr. After | hour, the
train increases its speed by 25%, then moves till 11.00 AM. After 11.00 AM, the
train increases its speed by 20%, then moves till 12.00 PM. After [2.00 PM,
the train increases its speed by ‘x'%, then moves till .00 PM and then the
train will reach station B. What is the value of ‘x’?

foig A 3iRR feig B o o<1 chl gt 408 fehHl 81 Teh ¢ gaig 9.00 o7 W A I E= gl 8
3R 68 foheit/geT <t 71 T a1 Xt 1 | €6 S a1, ¢ 37O+ 71 25% e &t 8, o
11.00 st dck Teidt g1 gdig 11.00 st ok a1, ¢ 31Ut 1 20% 61 &t 8, fhe 12.00
ol deh Ietd! 1 &1eR 12.00 575t & 916, ¢ 31U 71fd 'x'% &1 <t 8, fR augz .00
SISt Teh TeTel! § 3R fihe 277 &M B W Ug™ S| 'x' eht | -1 82

a) 50% b) 40%

c) 70% d) 60%

e) None of these

Q2. 20 kg of item A cost Rs. |5 per kg, and 25 kg of item B cost Rs. 'x’. If
item A and item B are sold at 20% and 10% profit, then the sum of the
selling amounts of items A and B together is Rs. 910. Find the value of

«
X

20 foralt a¥g A &t @rTa . |5 ufa foram, ek 25 foram awg ot &t g <. 'gert'|
gfe axg A 3R I B Bl 20% 3R 10% 19 WR <7 1T 8, af a<g A 3R B &l g
foreht fRT AT AT <. 910. 'x' &1 A9 19 ShifSIT|

a) I8 b) 10

c)I5 d) 20

e) None of these

Q3. A cylindrical bag contains millet, and the height of that bag is 30 cm and
the base radius is |14 cm. A cylindrical bag of millets is emptied till the floor,
and a conical heap of millet is formed. If the base radius of a conical heap is
70 cm, then find the height of the conical heap.

Ueh JoTTehR o | STORT §, 3R 39 o7 bl Hars 30 4T § 3R 3R B 14 It g1
SToTR h Uch deTTchIR a1 aht Tl dch Wieil e fedT STTdT 8, 3R STSTR ol Uch RigAThR
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&R g 7T 8| afe fohd} ferTehR &R o SMTYR <ht Brsar 70 It 8, af iR
¢X <h! S8 AT hifiT|

a) 3.6 cm b) 4.8 cm

c) 3.2 cm d) 3.8 cm

e) None of these

Q4. A boat moving in a circular path, whose radius is |4 km. The
speed of the boat in Stillwater is 47 km/hr, and the stream speed is
3 km/hr. If the boat had travelled half of the circular path
downstream and the rest upstream then find the total time taken by
the boat to finish the journey on a circular path.

Uk ATd J<IThR UY R I el 8, foiadh Brsar |14 fordl @1 feeraier & Ama &
i 47 foRet/der 8, SR R & 71fa 3 fohdl/der 81 afe A1 = g<rehR Uy &t
ST | YRT & 3Jhel IR AV YN YRT o Ufdchel dF fohaT €, dl gxiThR TU
R 1T YA i H 919 gRT 1 a1 hel 9 AT hifSig|

a) 1.22 hours b) |.44 hours

c) 1.88 hours d) 2.22 hours

e) None of these

Q5. A bus travels 64 km at a speed of 80 km/hr and 72 km at a speed
of 90 km/hr. Find the average speed of the bus.

Teh 919 80 fehHl/€eT ehl i T 64 fehdT 3R 90 fehwl/ e <ht 71fd & 72 feret <ht
AT el 6| §9 <hi 319d 71fd F1d iU

a) 85 km/hr b) 82 km/hr

c) 84 km/hr d) 87.5 km/hr

e) None of these
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3¢t 3- D.I.

Directions:-

Read the data carefully and answer the following questions:- The
following Line graph shows the total marks and marks in section A
obtained by different students and the table shows Ratio of marks
obtained from section B and Section C. The total mark is the sum of
the three sections - A, B and C.

fAgar: 21 &l ea= @ ue ik fA=afaf@a usti & SR €: - fPA=afaf@a a==
ures fAf N7 sEt gRT ST ¢ F uTed et il 3R 3iahl ol g21far g ok
dTfereht IIUTT &t 3R SIgUTT Tt | uTE il ot srquTd Rt 81 et sip
] ST - U, &t ok Ht ST T g1

Students Ratio of marks obtained from section B and Section C
Arjun 3:2
Hari 4:5
Sandhya 2:5
Ramya 3:4
Divya 8:9

=8-=Total Marks =®=Marks obtained Section A

80

75 —
70 fy ——
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60 Mﬂ"‘% %
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Arjun Hari Sandhya Ramya Divya
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QI. The marks in section B obtained by Arjun is what percentage more
than the marks in section C obtained by him?

IS GIRT SIHNT & | Ut 3ich 3ch gIRT HIT Al H YT 3ichl I feha+ ufdera
31feren g7

a) 60% b) 50%

c) 30% d) 150%

e) None of these

Q2. Find the difference between the marks obtained by Hari in section
A and B.

ST T 3R ot # gR gRT UT 3ichl o offr 3dR AT e

a) 6 b) 4

c) 2 d) 3

e) None of these

Q3. Find the ratio of marks obtained by Sandhya in section A and C.
ST T 3R €l J HedT gIRT UTC 3ichl AT SIUTd AT hifoig|

a) 2:3 b) 4:5

c) 3:4 d) I:2

e) None of these

Q4. Find the percentage of the marks in section B obtained by Ramya
when compared to her total marks.

IRT GIRT U el 3iehl chl JoT=IT H SHTT & H UTWT 3iehl <1 Ufdrd I1d hifag|
a) 28% b) 25%

c) 22% d) 26%

e) None of these

Q5. Find the sum of the marks obtained by Divya in section A and B.
YoM T SR &1 J feaaT gRT U 3iehl aht T 1 e |

a) 45 b) 43

c) 46 d) 44

e) None of these
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Answers

Wrong Number Series

)19 36 55 78 107 138
17 19 23 29 3]

2) 106 * 0.5 = 53
53%|=53

53 %|.5=79.5
79.5 % 2 =59
159 * 2.5 = 397.5

3 116 123 |34 151 176
2 L 6 8

4) 19 + 21 = 40
40 + 21 = 6l
61 + 40 = 10|
101 + 61 = 162

5)10 * 11 = 110
11%12=132
12 %13 = 156
13 % 14 = 182
14 * 15 = 210
15 % 16 = 240
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Approximation

1)V(7225) + 45 * 4 + 6 = x% of 500
85 + 30 = (x/100) * 500

115 = 5x

x=23

2)*Vx = v(1296) - V(576) - 3v/729
byx =36 -24 -9

byx =3

x=3%3%3%3

x = 8l

3)940 + 5 - 40% of 285=x+ 312+ 8
188 - 14 - 39 =x
x =35

4) 20% of 3775 — 25% of 1680 = x% of 500
755 - 420 = 5x

335 =5x

x =67

5)x of 336 + 42 =360 * 24 : I8
8x=360%4:3

8x = 480

x =60
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Quadratic Equations

) X=17,9
Y=18, 9
No relation can be established between ‘X’ and ‘Y’

2)X=17,17
Y =28, 28
X<Y

3)X = 45,5
Y=21,7

No relation can be established between ‘X’ and ‘Y’

4)X= 31, 3|
Y =34, 34

X>y

5)X= 38, -38
Y=19
No relation can be established between ‘X’ and ‘Y’
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Arithmetic Questions
Answer |-
The initial speed of the train = 68 km/hr
From 9.00 AM to 10.00 AM distance travelled = 68 km
Speed of train (10.00 AM to [1.00 AM) = 125% of 65 = 85 km/hr
From 10.00 AM to I1.00 AM distance travelled = 85 km
Speed of train (11.00 AM to 12.00 AM) = 120% of 85 = 102 km/hr
From [1.00 AM to 12.00 AM distance travelled = 102 km
Total distance travelled by train till 12.00 PM = 68 + 85 + 102 = 255
Remaining distance = 408 — 255 =153 km
Then Speed of the train (12.00 PM to 1.00 PM) = 153/1 = 153 km/hr
Thus x = [(153 — 102)/102] * 100 = 50%

Answer 2-

120% of (20 * 15) + 110% of (25 * x) = 910
Then

360 + 27.5x =910

27.5x =550

x =20

Answer 3-

Height of the cylindrical bag = 30 cm

The radius of the cylindrical bag = 14 cm

The radius of the conical bag =70 cm

The volume of the conical heap = Volume of the cylindrical bag
(1/3)*m*r2*¥h=nn ¥R2*H

Let

(1/3) *702* h = 142 * 30

h=(196 * 30 * 3)/4900

h=3.6cm
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Answer 4-

Circumference of the circle = 21r

Total distance = 2 * (22/7) * 14 = 88

Speed of the boat in still water = 47 km/hr

Speed of the stream = 3 km/hr

Downstream speed = 47 + 3 = 50 km/hr

Upstream speed = 47 - 3 = 44 km/hr

Then

Total time taken = (44/50) + (44/44) = 0.88 + | = 1.88 hours

Answer 5-

Time taken of 64 km = 64/80 = 0.8 hr

Time taken of 72 km =72/90 = 0.8 hr

Then Average speed = Total distance/Total time taken

Average speed = (64 +72)/ (0.8 + 0.8) = 85 km/hr
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Answer .

Total marks obtained by Arjun =70

Marks obtained by Arjun in section A = 25

Sum of the marks in section Band C =70 - 25 = 45
Marks obtained by Arjun in section B = (3/5) * 45 = 27
Marks obtained by Arjun in section C = (2/5) * 45 =18
Percentage = (27 — 18 /18) * 100 = 50%

Answer 2.

Total marks obtained by Hari = 67

Marks obtained by Hari in section A =22

Sum of the marks in sectionBand C =67 - 22 = 45
Marks obtained by Hari in section B = (4/9) * 45 = 20
Required difference = 22 - 20 =2

Answer 3.

Total marks obtained by Sandhya = 57

Marks obtained by Sandhya in section A = |15

Sum of the marks in section Band C =57 - |5 = 42

Marks obtained by Sandhya in section C = (5/7) * 42 = 30
Required ratio=15:30=1:2

Answer 4.

Total marks obtained by Ramya =75

Marks obtained by Ramya in section A = 26

Sum of the marks in sectionBand C =75 - 26 = 49
Marks obtained by Ramya in section B = (3/7) * 49 = 2|
Required ratio = (21/75) * 100 = 28%

Answer 5.

Total marks obtained by Divya = 7I

Marks obtained by Divya in section A = 20

Sum of the marks in section Band C =71 - 20 = 5|

Marks obtained by Divya in section B = (8/17) * 51 = 24

Sum of the marks obtained by Divya in section Aand B = 20 + 24 = 44
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